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9. A cyclist can ride 3 miles in 0.25 hour. Assume that the
distance biked in miles y varies directly with time in hours x.
This situation can be represented by y = 12x. Graph the
equation. How far can the cyclist ride per hour?

Make a table of values. Then graph the equation y = 12x. In a
direct variation equation, m represents the slope. So, the slope

of the line is lfl
Hours, x| y=12x | Miles,y
0 | y=12(0) 0
1 y=12(1) 12
2 |y=12(2)| 24

Distance (mi)

30
27 3
7
18
15 1
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The unit rate is the slope of the line. So, the cyclist can ride
12 miles per hour.

L Got I—]-? Do this problem to find out.
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b. A grocery store sells 6 oranges for $2. Assume that the cxs.t of
the oranges varies directly with the nuhber of oranges. This
situation can be represented by y = Ly Graph the equation.
What is the cost per orange?
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Lesson 3 Equations in y = mx Form 191




Ina prapor‘hann]
relationship, hoW is the unit

rate represenfed ona
graph? Explﬂin below.
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You can use tables, graphs, words, or equations to represent and compare
proportional relationships.

Table Graph
x | 15|20 | 25 | 30 412
3
y|3|4]|5]|6 5
. 1 .—---. ]I_._
2 3 4X
Words y varies directly with x IE
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Equation y= %:n:
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Chapter 3 Equations
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When the x-value changes by an amount A, the y-value will change by
the corresponding amount maA. Y.._; m x

run
Since 35 > 30, the rabbit is the faster animal. X ‘6 %a

-
[ GotI+? Do this problem to find out.

c. Financial Literacy Damon’s earnings for four weeks fro
part time job are shown in table. Assume that his earfiings

He can take a job that will pay him $7 \35 per hour worked. /~&—
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in Two Variables
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3. The distance d in miles covered 100 0
by a rabbit in t hours can be | gg 8
represented by the equation = 70 3 /.
d = 35t. The distance covered by @ gg 7 (2 60)
a grizzly bear is shown on the graph. 5 35| 30 /
Which animal is faster? Explain. a 3p j"[i. 30)
20
Rabbit d = 35t 10 /
D :'-
The slope or unit rate is 35 mph. |
R Tlme {]1} R

Grizzly Bear Find the=slope of the graph. LR
rise [30) o9 F“%l W ijv(ﬂ%[ |
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{ Which job has the better pay? Explain. ‘i‘?j (;{:‘ :

J'% vary directly with the number of hours worked. (/3 5 h;_) W
: = ==X of
L K| TimeWorked (n) | 15 | 12 | 22 \| o lb%
. 7 Total Pay (§) | 112.50 | 90.00 | 16500 67,50 Do
T Ao 20,




